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' Free-Falling Objects

Anflreg-f?;:mf object is ar? object which is falling under the sole influence of gravity. Any object which is being acted upon
only be the force of gravity is said to be in a state of free fall.

Conceptual Knowledge Check

Free fall
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X/ o, A calculator falls from the top of the high school and hits the ground.

1. What s its initial velocity? _OLY\/J_S___

2. What is its acceleration? __“. Ym{ﬁ”
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. When is the velocity of the calculator greatest?
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5. When is the velocity of the calculator smallest?
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6. Isthere motiqn in the horizontal direction,?h@irection, or
both? ey (al 3‘/

Throwing an object straight up

You throw your graduation cap straight up in the air at 5 m/s.

1. What is its initial velocity? EmJs

2. What is its acceleration? 9.8 m){ IQ:Z £ v
3. Does the acceleration change during this drop? Y1O
Why or why not?
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4. When is the velocity of the cap greatest? /YQMQ
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5. Whenis t%e velocity of the cap smallest?u
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6. Is there motion in the horizontal diregtion, the vertical direction, or both?
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